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QUARTERLY EXAMINATION - 2024

STD - X , MATHEMATICS
TIME : 3.00 Hrs ;

I. Choose the most suitable answers from the given four alternatives.

1

10.

1.

12

13.
14.

f(x) (x+1)3 (x-1)° represents a function which is

a) linear b) cubic c) recuprocal ; d) quadratic
IfA= {x y,z}B={3,5}C= {zabc}n[(AuC)xB]ns

a) 16 b) 12 c) 20 d)8

AR L (mod 100) a) 1 b)2 Gy d)4
The value of (13+23+ 33+......... #1900 1.+ 2 +3 +. 1 +15)

a) 14200 b) 14280 o aee) 14520 1 ad) 14400

The value of g, b If 4x4 - 24x3 +76x? + ax + 6 is a perfect square. .

a) 100, 120 ) b) 10, 12 c)-120, 100 d) 12, 10

The solution of (2x- )2 =9isequalto a)-1 b)2 ¢)-1,2 d) none of these
If im AABC, DB || BC, AB = 3.6cm, AC = 2.4 cm and AD = 2.1cm, then length of AE is

a)1.4cm b) 1.8 cm c)1.2cm d) 1.05 cm
The point of intersection of 3x-y =4and x +y = §is : .
a) (5,3) b) (3, 5) . C)(4,4) . d)(2,4)
The slope of the line which is perpendiculer to a line joining the points (0,0) and (-8,8) is
; :
- a)-8 b)} Gt o d) -1 ;
The value of (1 + tan 6 + sec 6) (1 - cot 6 - cosec 8 ) is a) -1 s D)0 c)1
SR 1
sin® @+ ——— ; 2 2
The value of‘ T is a) tan h o b)7 c) cot? 6 d)o
¥ Vam? -24m+36=0 @) 4(m-3) b)2(m-3) ¢) (2m - 3y d) (m-3)
The HCF of number of the form 2m"and 3"is  a) mn  b) 2™ e)l d') 2 A
What is the time 100 hours after 6 am? a) 11 a.m b)9 a.m c) 11 p.m

Il. Answer any 10 questions. Q.No0.28 is compulsory.

15.
16.
17:
18.
19.

20.

21

22:

23.
24,

25.

IfA=B={p,q}findi)AxB ii)BxA"

Find the value of &, such that fog =gof. fix)=3x+2, g(x) 6x-k
If a®xb°=800. Find a-and .

Find x, yand z given that the numbers x, 10, y, 24, z are in A.P.
el e are in G.P find 8th term.

x?-11x+18
x?-4x+4 S ; :
Find the sum and product of the roots for following quadratic equation x2 + 8x- 65 = 0.

121(a+b)%(x+y)%(b-c)®
81(b—c)*(a-b)2(b-c)*

Simplify :

Find the square root of the following rational expression.

MARKS : 100

14x1=14

d) 2

d)10a.m
10x2=20

If AABC isfsimilar to A DEF such that BC = 3cm, EF = 4cm and area of A ABC = 54cm?. Find the area of DEF.

Find the value of a for which the given points are collinear. (2,3 ) (4,a)(6,-3)
Find the slope of a line joining the points (77 ) with the origin.
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secl sin6

hat ——— =cot 0

26. Prove that s

27. Prove. that —LOSH =cosecl+cotf
1—cos@ :

28. Find the equatuon of a straight Ime passing through ( 5,-3) (7, -4). ‘ j _

ll. Answer any 10 questions. Q.No.42 is compulsory. 10 x 5= 50
29. LetA={xeW /x<2} B={xe N/I<x<4}C={3,5}verify that WAX(BUC)=(AxB)(AXC)

30. The function ‘t’ which maps temperature in celsius(C) into temperature in Fahrenheit(F) is defined by

; 9 : ; ‘
t(c)= F where F = ~C+32.Find )t(0) i)t(28) i) t-10) iv) the value of C when t(C) 212

v) the temprature when the celsius value if equal to the Fahrenheit value.
31. If fix) =x- 4g(x) = x2 h(x) = 3x - 5. Prove that (fog) ok = fo(goh)
32. If 'd’ is the highest common factor of 32 and 60. Find x and y satisfying d = 32x + 60y
33. Find the middle term of an A.P. The sum of first three term are -3, the sum of last three terms are 69.
Total number of terms are 15. :
34. Find the sum of 152 + 162 + ................ 20
35. Solve : 3x+y-32=1-2x-y+22=1,x-y+z=2.
b’ +3b-28 b1 -47
b’ +4b+4  b%-5h-14
37. If ax* + bx? + 361x % + 220x + 100 is a perfect square, find the values of a and .
. 38. State and'prove Basic Proportionality theorem.

36. Simplify :

sinz A-sin’ B

cos® A cos’ B .

~ 40. If the vertices of a AABC are A(6,2) B(- 5 -1) and C(1,9) i) Find the equatton of median
(ii) find the equation of altitude.

41. Find the equation of a straight line j jomlng the point of intersection 3x +y +z=0and
x -2y - 4= 01to the point of intersection of 7x- 3y =-12 and 2y =x + 3.

42. Find the value of k if the area of a quadrilateral is 72 sq. units. Whose vertices are taken in the order
A( -5, 7) B( -4, k) C(-1, -6)andD(4 5)

> 2
39. Prove that fan” A~tan” B=

IV. Answer all the questions. : 2x8=16
43. a) Construct a APGR in whtch PG = 8cm, R = 60° and the medlan RG from R to PG is 5.8 cm. Find the
length of alititude from R to PG. (OR) »

b) Construct a triangle similar to given triangle LMN with its sides equal to 4/5 of the corres sides of the
triangle LMN. (Scale factor 4/5 < 1). : :
44. a) Varshika drew 6 circles with different sizes. Draw a graph for the relationship between the diameter and
circumference (approximately related) of each circle as shown in the table and use it to find the
cirumference of a circle when its diameter is 6¢cm.

Diameter (x) cm 1 2 i~ 3 4 5
Circumference (y)cm 31 6.2 9.3 124 15.5 : (OR)'

g s 1
b) Graph the following linear function y = Ex ldentlfy the constant of variation and venfy it with the graph

. Also i) find y when x = -9 ii) find xwheny =7.5 : :
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